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Instructions:

1) All questions are compulsory.

i1) Question No. 1 to 5 are objective type questions. Each question is allotted 1 mark. Internal
options are given in all questions except objective type questions

i11) Question No. 6 to 15 are allotted 2 marks each. Word limit is about 30 words.

Iv) Question No. 16 to 19 are allotted 3 marks each. Word limit is about 75 words.

V) Question No. 20 to 23 are allotted 4 marks each. Word limit is about 120 words.

Vi) Marks allotted to each questions are mentioned against the question.
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Choose and write the correct options.

(1) How much does the population increase every year In India
(A) 1.70 crore (B) 1.50 crore
(C) 1:30 crore (D) 2.10 crore

(2) The membership of caste is -
(A) Permanent (B) Temporary

(C) open (D) Formal

1x6=6



(3) Colonialism is the result of which thinking ?
(A) Humanism (B) Socialism

(c) Imperialism (D) terrorism

(4) which party system has been adopted in Indian democracy ?
(A) one party system (B) Tri Party System

(C) multi-party system (D) Party less system

(5) The characteristic of Industrial society is -
(A) Developed market system (B) Ascribed status.

(C) Enhancement of personal relationships (D) informal control.

(6) Which condition in India is the results of globalization

(A) Dependence on foreign goods (B) Increase in foreign investment

(C) Development of local culture. (D) Increase in urbanization
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Write True and False :

(1) The dominant caste is related to the higher castes.

(2) The impact of globalization increases the use of external sources in economic activities and
services.

(3) Raja Ram Mohan Roy is also called the father of Indian Nationalism.

(4) The 73rd amendment of the Constitution is associated with the Panchayati Raj system.

(5) The state of Punjab has received the maximum benefits of the Green Revolution.

(6) The power of trade union increased within impact of liberalization.
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Fill in the blanks :

(1) According to the National population policy of India 2000, the target is to achieve
population Stability by the year

(2) After independence the states were reorganized on the basis of in India.

(3) The new constitution of independent India was implemented in the year

(4) The Policy of economy has been adopted in India.

(5) The name of the basic policy related to globalization is

(6) The Postal service was started in the year in India.
(7) played a key role in the Chipko movement of Uttarakhand.
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Match the correct pairs of the following.

(1) Hindu Marriage act (a) Soap opera
(2) Cultural identity (b) withdrawal of government capital from public
industries
(3) Jyotiba phule (c) 1951
(4) Abolition of zamindari System (d) social reform movement
(5) Disinvestment policy (e) sense of community
(6) Music of serial-full Episodes (f) 1955
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Write the Answer in one word/sentence of the following.

(1) What is the name of the chairman of the Second Backward commission in India ?

(2) What is monetary Policy ?

(3) Which religion has the majority population In India?

(4) What is the name of the author of the book social change in modern India?

(5) What is the name of the centre from where shares of any foreign company can be sold or
purchased?

(6) Which technology is required to connect to the facility of online games and whatsapp on
mobile.

(7) What is the name of the program related to preventing pollution of Ganga?
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Write the meaning of population explosion.



AYGT/ Or
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Write the meaning of child death rate.
T 7) S UE T H FE & AT ey | (2)
Write the two differences between caste and class.

JI4T/ Or
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Write any two differences between joint family and nuclear family.

T 8)  AMH AT Toher Fgd & ? forfe | (2)
Write what is indirect market.
AYET/ Or
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Write what do you understand by consumerism?

TH9) AL HI U ¥der TS FAT FHgl ATdT 8| (2)
Why India is called a secular country?
JI4T/ Or
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Write why rationalism is a problem in India?

T 10) HTHTIO STgCRTT T 47 1 | (2)
What is the meaning of social exclusion
AYET/ Or
AT ferewaT & o A 96§ ?
What do you understand by gender inequality ?
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Write two works of Gram Panchayat
JI4T/ Or
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Write two characteristics of democracy
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Write any two difference between Strike and Lockout.
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Write any two problem of multinational companies.
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Write any two result of globalization.

AYET/ Or
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Write the meaning of disinvestment.
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What are the difference between radio and FM channels.(any two)
AYET/ Or
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Why media is called Guard of democracy.
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Write any two results of labour movement.

AYET/ Or
T AT o Fls &l F107 oy |
Write any two reasons for labour movement.
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Write why Indian needed Policy of liberalisation for their economy? (any three)

AYET/ Or
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Explain any three result of liberalization.
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Explain the theory of demographic transition.
AYET/ Or
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Write description of factors responsible for population growth. (any three)
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What is the structural change? What effect of industrialisation in Indian social structure.

AI4T/ Or

AT § AT OIATAT ! SATEAT Hitord | (Fls 1)

Explain the ill effects of urbanisation in India . ( any three)

ATHTIST AT ATGAT & ATHTISTR THATAT 0l SATEAT i1 | (FHTE A1)

Explain the social effects of social reform movements .( any three)

AI4T/ Or
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What is Sanskritisation? Describe the characteristics of Sanskritisation. (any three)
ST TR g 52 ST ol S TEeraarstt &1 fErawor firfsr | (i 91)

What is caste ? Analyze the main characteristics of caste. ( any Four)

AI4T/ Or

T TAT & T[0T UF IUT a0l A=l dhiord | (& =)
Analyze the merits and demerits of joint family. (any Four)
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Analyze the efforts of government for Welfare of other backward classes.

AI4T/ Or
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Explain in detail the four laws made by the government for women's welfare.
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Write the meaning of Land Reforms ? Detailed explain the result of land reform

AI4T/ Or

(3)

(4)

(4)

(4)
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What is green revolution ? Detailed explain the effects of green revolution on farming

society.



T 23) TFAAAT 6 THTT §U STASTIA SQIAT 0l Toreqa SATEAT it | (4)
Detailed explain of tribal movement after independence.

AI4T/ Or

AT o THE FUF AGAAT 61 [@AEq & 0 G0 | (FHE IR)

Detailed explain the main farmer movement of India. (any Four)



